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Figure S1: 
1
H NMR spectrum of 7 in CDCl3 
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Figure S2: 
1
H NMR spectrum of 8 in CD3OD 

 

 

 

 

 

 

 

 

 



4 

 

Figure S3: Mass spectrometry of the electrolyzed solution and of deschloroalachlor 

 

 

 

Mass spectrometry of the electrolyzed solution 

Mass spectrometry of deschloroalachlor 
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Figure S4: Cyclic voltammetry of [Co(bpy(CH2OH)2)2]
2+

 in the presence of alachlor 

 

(Left) Cyclic voltammograms of [Co(bpy(CH2OH)2)2]
2+ 

complex (1.9 × 10
-3

 mol L
-1

) in 0.1 mol L
-1

 Na2SO4 + 

0.1 mol L
-1

 HDTAB before (
____

) and after addition of 2 × 10
-3

 mol L
-1

 (……), 12 × 10
-3

 mol L
-1

 (…..), 20 × 10
-3

 

mol L
-1

 (-----) alachlor on a 3 mm diameter glassy carbon electrode at 0.05 V s
-1

. The background was 

subtracted. (Right) Simulations of voltammograms considering the second reduction step as slow with  k2 << k1 

= 5000 mol
-1

 L s
-1 

  


